« PREMIUM IKiZ KILER MONTAJ SEMASI
« PREMIUM TWIN LARDER MOUNTING INSTRUCTIONS

n staraxaccessories O starax staraxofficial m starax

STARA €

4/M5x10 i 2/M5x10
3/M5§50 : 2/M5;((20 )
VAN J
e - aYa D
B-1 i B-2
o o
u'_? § 275/425 D
£ o
s o
3 of—— U 3
:4\ -
450/600 450/600
VAN J
N ( D

10 / 3,5x16

%

J

2/M5 ®

1/M5x20 %

J/

@ www.starax.com.tr




« PREMIUM IKiZ KILER MONTAJ SEMASI
« PREMIUM TWIN LARDER MOUNTING INSTRUCTIONS

Product Code Basket WxDxH
Wire Wooden
S-1221- S-1241- 4 380 x 510 x 1250-1400 450 % o
S-1222- S-1242- 4 530x 510 x 1250-1400 600 o I il 1[ Lﬁ
0 .o
S-1223- S-1243- 5 380 x 510 x 1400-1550 450 ﬁ 1 ) ! ' f>é
0 0
S-1224- S-1244- 5 530 x 510 x 1400-1550 600 r>é ' N ' \ =
0
S-1225- S-1245- 5 380x510x 1550-1700 450 E ) I " N
S-1226- S-1246- 5 530x510x 1550-1700 600 ) ! \ 0
S-1227- S-1247- 6 380x510x 1700-1850 450 K ﬂ i '
i I
S-1228- S-1248- 6 530x510x 1700-1850 600 ' !
S-1229- S-1249- 6 380 x 510 x 1850-2000 450
S-1230- S-1250- 6 530 x 510 x 1850-2000 600
6/3,5x16 2/M5x20
% ¢
g _J N\ _J
rC ) - ™ s )
-1 7 : D-3 E-1
0 1
0
T 265/415 ? I
0 0 ) u
0 1 U v |
ki ) i
0 0 r 0 ) (
0 0 n ! ! u
0 0 ! U 0 |
0
0 0
0
0 0 0|
§ § !
0
205 ﬂ
0
8 2/M5 @
450/600 2/M5x20

n staraxaccessories O starax staraxofficial m starax



